EARAROBEEIERT — 2 N— IBISH —F

20145F4A28 (OK) 1EAFH2H

mﬂﬁ%—ﬂﬁ C1mAX (w8 | 1mEmml - |5 5 oom
[A&4£] 1 7% :1,300,000 @ 23 :390,000 @ 337 :234,000  ~ 43#&:156,000 @ ~ 5 7 :130,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s -4 4t 4 | BEE 1:42.3 2-2-2-2 |40.2| — 3 500 | KEZEH (KH)
1)8[10| F¥—=1v¥ 56.0 o 43 | B
L:xAMyagR—-5— B:I(1-77%X H# 1=
S . 4 4 | WL 1:42.4 8-7-6-6 |39.4| — 2 448 | SEHARGL (4ViA)
] 4| NVIvEEA 54.0 (1/2) (-p) | FEBEM ()
¥y yU)Z B:ay3aveoq s XE ES
N 44 | MEEA 1:42.4 3-4-3-5 |40.2| — 1 500 | ESRISAD (/vih)
31811 71 F¥ >R 56.0 (7€) (+6) ﬁgéﬁ
L:XXp2eR B:TIVIT—-2ILY PN AN
. S, =5 BHEAH : ~3-3- — FRA—H (KH)
4 3| R—r3— bL>F g io4 o 1.(412).6 5-3-3-3 | 40.2 7 f; ffimea
R:A—JIVh7x BEEREZ— IWHE %=
S5 o 48 | ABEK 1:42.8  |11-11-10-10| 38.8 | — 9 | 506 |BARE (1)
5/7|9| F7I>=7un 8.0 (1 1/a) o) | ) AEEE
RTUHAZILR BAUIL HERAS
. 4 4 | REXR 1:42.8 8-7-9-9 |39.4| — 10 | 450 |FAE (KH#)
61111 |FNEH2R 56.0 7€) () |WORIER
R:A-—V XS24 B:TLYvAV174 KIFEBHS
EHEZ : -5-3- — FHHFAR (KH)
7055/ A—LI KU YT IR i S B R ° g; ez ®
LY LTAN— b BFAXAIANT =Y tie ]
N TN A : -1-1- — ERFME (KH)
8 o | T—w kK> K 44 ne 1(.14/32.)3 1-1-1-1 [ 41.2 4 (5:)57) e
LY Ls14Nn—t B:E-TF LA Eae ]
= _ 4 5 | PHEE 1:44.0 10-10-11-11{ 39.7 | — 1 469 | HRERE (W)
9 7 by ZNJdRX% 54.0 (3 1/2) +1) (B) SRS
Z:Nd B:hyTF7IRLZR BENS
_ . EIHEER 144, —9-7- . — BRE (KH)
1wl 6| T771—KFU—4L LR 1(34/‘2)1 e ° :?(5)) REEN
L:TNhEy b BT —TZXTAN 79957714
= o4 | EINE 1:44.4 6-6-8-8 |41.6| — 8 534 | #ER (KH#)
111718 U_—,_"j F774A 56.0 (11/2) (-6) %Z?EE?EK
K74 M B:Y2UT T ay HRE 1#
® I —F—@EBIERL
13—+— |2,10,11,5,3,8,6,(1,4),7,9
20—F— 2,10,3,11,5,8,(1,4),6,7,9
da=3r= 2,10,(3,5,11),4,6,8,1,9,7
43—F— 2,10,3,5,11,4,6,8,1,9,7
[ N3
BB 10 550/ 714K 4-10 420M % E 4-8 460M 3EHE 4-10-11 1,160
8 B 10 160 10-11 320M B 8-4 840M K31 10-4-11 10,200
4 140/ 4-11 270M B E 4-10 1,330
1 120 B 10-4 3,070M

ABICOVWTRDTEEERROODE. TR LIV,




